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from turtle import=
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turtle * miniTurtle=Turtle()
miniTurtle=Turtle() miniTurtle.shape( "turtle")
miniTurtle.shape( "turtle™) miniTurtle.color(“green”)
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x=6 x=6
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print(x) print(x)
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from turtle import=
from turtle import# miniTurtle=Turtle()
miniTurtle=Turtle() miniTurtle.shape( "turtle")
miniTurtle.shape( "turtle™) miniTurtle.color(“green”)
miniTurtle.color("green”) miniTurtle.shapesize(2)
miniTurtle.shapesize(2) miniTurtle.forward(70)
miniTurtle. forward(160) miniTurtle.left(90)
miniTurtle.left(120) miniTurtle.forward(70)
miniTurtle. forward(166) miniTurtle.left(90)
miniTurtle.left(120) miniTurtle.forward(70)

miniTurtle. forward(1600) miniTurtle.left(90)
miniTurtle.forward(70)

from turtle import=

m?n?Turtle:Turtle(} from turtle import s
miniTurtle.shape("turtle™) miniTurtle=Turtle()
miniTurtle.color("green”) miniTurtle.shape("turtle")

miniTurtle.shapesize(2) miniTurtle.color("green”)
miniTurtle.circle(50) miniTurtle.shapesize(2)
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